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% SECTION - A
i) General Awareness
H 1. Who faces action after rejecting 6. Mohiniattam is a dance form of
Bronze medal in the Asian Games (A) Tamil Nadu
held in Incheon in Nov. 2014 7 (B) Karnataka
(A) Boxer Mary Kom (C) Kerala
(B) Boxer Park Jina (D) Andhra Pradesh
(C) Boxer Saritha Devi
ED} None of thase 7. Rickets is a disease caused b]r'.thﬂ
deficiency of
2 Name of the present British Prime (A) Vitamin D
Minister is (8} Vitamin C
(A) Herman Rompuy (C) Vitamin B
(B) Mrs. Thacher (D) Vitamin A
s i 8 Which of the following towns is
: L o i W I
(D) Pravigh Coiion famous for the production of traditional
AN ot sarees/fabric ?
| 3. E?cemw of Jews is (AYyBias .
(B) /Synagogue i [N
(C) Cafe ' ;

D) None of these

(D) None of these

schedule of the Indian

4. The United Nations has ho ution ccmtqins the list of the

member states ? languages recognized by our
(A) 183 Constitution ?

®) 192 (A} Sixth schedule

(C) 191 (B) Seventh schedule

(D) 194 (C) Eighth schedule

(D) Ninth schedule

5. Recently, a series of uprisings of
people referred to as ‘Arab Spring' 10. Where is Sanjay Gandhi N&tmnal

originally started from Park situated ?
(A) Egypt (A) Mumbai
(B) Lebanon (B) Chennai
(C) Syria (C) Poona

(D) Tunisia (D) Lucknow
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7T - 3
i) T AR
. 9 2014 H $=9 ¥ wros ofded g 6. Hile-ieTee 70 WhR 30 TNT & ¢
T A9 HE Ta FEHR = F e () afmg
T8 a1 T SHAT9E IR 2 (B) =T
(B) Herhertet wish o (D) =Ty
(C) TahaTs gl gt
(D) T HHE 7. Toreg = o 5% s @ B 2
e e e o ﬂi
(A) BEFTHT ()
(C) T
(B) sftoeit = R
(C) T HA ©) p
o B i 8. it i & #wen wrew wefes wfea)
EECRIE R RS e SR SR Y
() <= pl—
(8) R - il
(D) sl & s Y d (B) ¥ i A
e T F e wem B E 2 a EEEREECUE RRIEEi
e b % e s g A é 22
(B) 192 (A) B srgeEh
(C) 191 (B) wTaET TEE!
(D) 194 (C) e s
Y = ——— i e
ot e o e ger: e 6 s gd | 10. W M Tl e el @ R 2
(A) 3= (A) T
(B) &R (B) ==
(€) Tl (©) o
(D) wfAfeE (D) TETH




12.

13.

14.

15.
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In 1969, who became the first
recipient of the first Dada Saheb
Palke award 7

(A) Dilip Kumar

(B) Sathyajit Ray

(C) Devika Rani

(D) Latha Mangeshkar

Who is the author of “The Story of My
Experiments with Truth" ?

(A) Pandit Nehru

(B) Mahatma Gandhi

(C) Rabindranath Tagore

(D) C. Rajagopalachari

A very severe cylonic storm Hudhud
made its attack on 12-10-2014 in

(A) Tamil Nadu
(B) Kerala

(C) Haryana

(D) Andhra Pradesh

Who is the “iron man”, to the statue of
whom floral tributes were paid by
Mr. Narendra Modi on Oct

20147

(A) Sardar Vallabhbhai Pa

(B) Bala Gangadhar Tilak

(C) Nathuram Godse
(D) None of these

Expand SAARC

(A) South African Association for
Regional Co-operation

(B) South Asian Association for
Regional Co-operation

(C) South African Association for
Restricted Co-operation

(D) South Asian Association for
Regional Competition

JDD-41/TGT-MATHS/X-14

16. The aim of the Sarva Shiksha
Abhiyan is to achieve universalization
of elementary education by the year
(A) 2007
(B) 2008
(C) 2009
(D) 2010

17. The Iron Pillar at Mehrauli in Delhi is
believed to record the achievemnents of

(A) Ashoka

(B) Chandraguptall
(C) Samudragupta
(D) Kanishka

18. The famous bronze image of Nataraja
is a fine example of
(A) Cholaar ..
(B) . Hoysala art
(C) Gandhara art
( Mauryan art

Kejrival is the leader of
(A) DMK
(B) NCP
(C) Shiv Sena
(D) Aam Admi Party

20. 2" Oct. is the birth day of Mahatma

Gandhi and also of

-

(A) Pandit Nehru

(B) Narendra Modi

(C) Lal Bahadur Shastri
(D) V.V.Giri
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H 1969 FEH1 2131 HIRe Fleth JHEFT
THETH TEE UTEEA F1T 9 2
(A) TeeflrgmR

(B) Hexford 1

(C) o

(D) &1 "SI

TN 317w T v ioivey e ey’ &
TEEFEE 7 &

(A) ¥iEdAes

(B) HETeH e

(C) Ty 2R
(D) . TSI

12-10-2014 % fo 0ok sget oty wigarret

?EFH&'E@ TET ST

(A) dferTg
(B) =HTa

(C) =fEmy
(D) Ty ¥e%

& W G w2 e A w
31 AR 2014 &I 4, T3 T 3
Bl HIEl STS ©

(A) BIER Footd TS Wie

(B) & T e

(C) g Tied

(D) &7 & =S T

SAARC 1 qui FIfSu
(A) HIFY ATFFT FAGROIE B
el 1Ty
(B) 19 uhimg wgifyum wit
REES LAt
(C) H1F9 HfFwa IEfwE v
Tefegspee Faiaam
) HIFY ofiEm sEoE vl
{1t sitafeem

16. wd Bren s eiea 2, wrafis e

T AR HT 30 I
(A) 2007
(B) 2008
(C) 2009
(D) 2010

17, Taeht o dedeh 4 fom oe wy wamy

e & For geeft sirimen sifrm g 8
(A) 3T

(B) === i

(C) wH=T=

(D) wfen

18. 7 =l g = =it wicw e 399

ISR
(A) ST e
(B) &5l %Al

(C) TR

(D) 1 e
dda-w

(B) et
(C) Twg
(D) =g 37reet urdf

20. 2 3YFER TETeH1 W % = Raw 2

SR g oft

(A) dfeadess

(B) TrwE

(C) eTeT wrTe i
(D) &t

-
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ii) General Intelligence and Reasoning Ability

o1, IfD=4, BAD =7, thenwhatis the value | 27. Select the related word
of ANT ? .
: o .9
(A) 8 | 17 WOOL : SHEEP : : MILK : *
(©) 35 (D) 37 ) SRy
(B) CROCODILE
22 |f, inacode, FISHis written as HKUJ, (C) COW
in the same cede how can STAB be
written 7 (D) CRANE
(A) UCVD (B) VUCD 28. Find the missing number 5: 125 2327
(C)y uvblC (D) UVCD (A) 9
1*'" 03 From the given responses, find the (& I
missing number in the given series (C) 38
4,5,7,10,14,19,7 (o) 27
H {2} 2e (B & 29. Find the missing number
WORE 220 35 4 60
24, Find themissing date intne given series 7 4 4 96
4/12/95, 1/1/986, 29/1/96, 26/2/106 7 5 7 4 140 :
(A)/ 24/3/96 1‘ 101K ®) 6
(B) 25/3/96 U (D) 9
 Gukde ' irattions (Qs. 30 and 31) ; Which one of th
s s. 30 and 31) : Which one of tne
(D) 27/3/%6 | a nses would be 2 meaningful order
05, Find the word that cannot bETOfm ing words # |
from the letters of the word 30. 1. Plant 5 Food 3. Seed 4. Flower
INTELLECTUAL (A) 3 1.4.2
(B) LAME (Cy 1,2.3.4
(C) LATE (D) 4,321
(D) ELECT |
31, 1.Honey 2. Flower 3, Bee 4. Wax
26. Select the related word (A) 1,2,3,4
TALE : LATE :: FACE : ? (B) 2,431
I|I (A) CAFE (B) CAEF (C) 2.8, 1.4
r (C) CEFA (D) FEAC (D) 4,3,2,1
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22.

23.

24.

25,

26,
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ii) T g fgm we Arfhes Fger

afgD =42 NBAD =78, TTANTH
T R 7

(A) 8 (B) 17

(C) 35 (D) 37
3fe 7% %2 § FISH® HKUJ fora sman
2, W 3@ F= H STAB =1 &4 fomn
ST 2

(A) UCVD (8) VUCD
(C) UvDC (D) UVCD
AT T I e

4,5,7,10,14, 19,2

(A) 22 (B) 25

(C) 24 (D) 26
4/12195, 1/1/96, 29/1/96, 26/2/96, ?
(A) 24/3/96

(B) 25/3/96

©) 26/3/96 a
(D) 27/3/96

INTELLECTUAL 375 ¥ 31&7] & F=a1
Y158 8] T 1 Hehal, T8 TaT e
(A) TALE (B) LAME
(C) LATE (D) ELECT
FreIfa 9188 1 987 Fifg

TALE : LATE ; : FACE : 7

(A) CAFE (B) CAEF
(C) CEFA (D) FEAC

07. HrEH e T =9 ST
WOOL : SHEEP : : MILK 1 ?
(A) CROW
(B) CROCODILE
(C) COW
(D) CRANE

8. TATIHT WL o el Flfarg
51251037
(AY ¢
(B) 12
(C) 36
(D) 27

09, TATYAT EET 1 T A

35460
? 44 96
57 4 140
A 4 B) 6
(@ B D) ©

3897 (9. 30 3R 31) : fod ™ 3wy ° & fe

(A) 3,1,4,2
(B) 3,421
(cy 1,234

(D) 4,3,21

31. 1. TER 2. T
3. wygmwEl 4. OH 4
(A) 1,2,3.4
(B) 2,4,3,1
(C) 2,314
(D) 4,3,2 1




33.

K is the sister of F; Gis the brother of
C : C is the daughter of A: Fis the
brother of A. Who is the uncle of G 7
(A) A (B) C
C) K (D) F

While a group photo of a family was
taken, the father was found to be
sitting to the left of the son and right
to the grand father. Mother was sitting
to the right of her daughter, but left to
the grand father. Who is occupying
the central place ?

(A) Son

(B) Grand father

(C) Father

(D) Mother

In a joint family, there are father,
mother, 3 married sons and one
unmarried daughter. Of the sons, two
have two daughters eachand oneh

a son. How many fema
are there in the family ? H
(A) 2 (

(

(C) & D) ¢

95. Find the missing number

15 6 20
4 B 5
s 8 R
8 51 7
(A) 56
B) 51
(C) 120
(D) 12

36.

37.

39,

40.

JDD-41/TGT-MATHS/X-1 4

John runs a distance of 3km towards
North ; then turns to his left and runs
for 2 km. He again turns left and runs
tor 3 kms. At this point he turns 10 his
left and runs for 3 km. How many km
away is he from the starting point ?
(A) S5km (B) 3km
(C) 2km (D) 1km

if the letters of THILAK are coded as
268451 and PRABA are coded as
27595 then how can BHARATI be
coded 7

(A) 9657538

(B) 9567538

(C) 9675538

(D) 9567568

Find the odd group from the given
responses.
(A) 52,68
(B) 63,67
C) 4,80
50, 66

--i-ﬂ mm "){-:ﬂr n._‘l1 means l|.+:il “'}C "
m'EEﬂS “..':—“ a[‘,d l+" H-Ems “-H.l m]
(A) 10
(C) 80

(B) 20
(D) 40

5§ is taller than Q and shorter than P,
R is shorter than T but taller than P. If
they stand in a row in theascending
order of their height, who is standing
in the middle ?
(A) P

(C) R

B Q
(D) S




32.

35.

KTEFHI T8, GIECHIEE, C
I8 AFISAR, FIEAFIVE R, TG
FIAETHRAE ?

(A) A

(B) C

€ K

D) F

STl 0k T o1 T e e T e
oy a2 =1 wrff 3T 3R 2 & Tl
3T 9T T | W A w5 et
R &3 oft Al g1en o TR S |

HEH WHH B2 ?

(A) =&
(B) &=t
() faar

e

(D) i

o i e o e, 7, 3 R
i R A 2130 §, A =

TF & Al 8 3R UH F1 0
2 | 39 9fE i nieen gew fha 8
(A) 2 (B) 3
(C) 6 (D) @
HATIT HEAT 1 I TR

15 & 20

4 RS

S8 E

85 51 7

(A) 56

(B) 51

(C) 120

(D) 12

-11-
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W 3w feem =i o7 3 Rl S e,
o ar ol sRges 2 . Ag@® |
T g s o arl S e 3 fh. .
et | 30 g wag ol stRgwar 2
i3 fpd, 6 gl gl e | e
Frgasmae i i me ?

(A) 5T, (B) 3T,

(©) 2%, D) 1f. wﬁ

af%THiLAK@raamgﬁasmmﬁ‘-l@
74 311 PRABA #F1 27595, @1
BHARATI &1 ¥& g2 o fog@h ?

(A) 9657538
(B) 9567538
(C) 9675538
(D) 9567568

e ) 3l o © forom Hge e i
(A) 52,68
(B} .63, 67

(C) 64,80

B
agmx‘%“mw
1 %m"‘aﬂ-

nﬁaa* P8, N 1B+6-2x3:5=7
(A) 10 (B) 20
(©) 30 (D) 40

STEQUAFTRARPE AR, RTET
Y@ 2 Afra P8 S 2 | gfE 3 wed
FH B UF HaR H 70 St F oER
EeEaE, AdfEieREse?
(A) P
(B) Q
(C) R
(D) S
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iii) Arithmetical and Numerical Ability

If 1 is added to the denominator of a

]
fraction, the fraction becomes E' If 1

is added to the numerator, the fraction
becomes 1. The fraction is

5
(A) ®) 3

10

(@) 11

(€

i &

Two roads XY and YZ of 15 metres
and 20 metres length respectively are
perpendicular to each other. What is
the distance between X and Z by the
shortest route 7

(A) 35 metres

(B)' 30 metres

(C) 24 metres

(D) 25metres.

3 coins are tossed sim
What is the probability th
appear on the top 7

3

A 3

(B)

thiw |-+

(D)

© 3

g

30 .32432+3%="7
A) 16

©) 15

(B) 13
(D) 3

45. P:Q=2:3Q:R=2:1,P:R=?

A *

(A) 4:3
c) 2:1

(B) 3:4
(D) 3:1

~12-

48,

47,

48,

How many different letter
arrangements can be made from the
letters of the word ROAST 7

(A) 60 (B) 120
(C) 720 (D) 240

PA and PB are two tangents drawn
to a circle from an external point ‘P".

If PA = AB, |APB =7
(A) B0
(C) 80°

(B) 70°
(D) 120°

A. B, C are the centres of three circles
touching each other externally, with
radii 3 cm, 4 cm and 5 cm respectively.
Find the perimeter of A ABC.

(A) 10cm (B) 12cm
(C) 24cm (D) 18cocm

49 A ABCisanequilateral A with side

50.

5 cm. Area of AABC is

a %mﬁsq.cm

J3

— %8 8. cm
4 q

{3

— 25 sq.Ccm
2 q

(©)
(D)

The number of planes of a regular
hexagonal prism is =

(A) 6
(B) 4
C 8
(D) 10
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43.
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Iii}aiaﬂrﬁﬁﬁ'ﬁqéﬁmw
R fErwdiFifaRiaaae | 46, ROAST Y= & el | ST A
4 el 3 e A @A T Ed 2 ¢
ﬁmaﬁ‘m%mﬁwﬁﬁﬁ?ﬂ%% (A) 80 (B) 120
A og ot 1 SR 198 B R (&) 749 (). 290
g4 ®) 5 47. sl P g € g S T
Al o i<t 9 & | 972 PA = AB, |APB =7
2 10 (A) B0°
© 3 ST B) 70°
(C) 80°
yy 30 YZ & 2 T i EEEn 15 H i (D) 120°
aiw 20 e s HE AR I H |
e s | X ZF AR AT | 48, A BIRCTBAR TR H R | AT
A s E e 2 7 1T ¥ HTUG F T FA & AN I
freamise: 38, 48, 5.,
(A) 35HX
(B) 30T 2 | A ABC i gftfer wem =hifere |
ot (A) 1084 (B) 12%..
© =43 (€) 24FHHL (D) 18¥E.AH.
(D) 25
3 Refr U E SO A S R EeTar | 49, AABC FE HRYS o 2 formreer v
2 e, mefl Rt o T T e o 3% ft. 2 | A ABC 1 85I 8
@i ¢ | a. 5 a8,
3 1
(A) 8 (B) a (B) —ngsaﬁﬁ.rﬁ.
1 3
© 3 © 3 © Losaids,
3 A
30+5%,<3%+3==? (D) gxzsaﬁﬁ.:ﬁ.
(A) 16 (B) 13 -
(C) 15 (D) 3 50. U Pl wesEERR S e B
(A) 6
P:Q=2:3,Q:R=2:1% @ P:R=? B) 4
(A) 4:3 (B) 3:4 () 8
(C) 2:1 (D) 3:1 (D) 10
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o2.

55.

¥2 — Bx + 9 = 0. The roots of this
guadratic equation are

(A} Real and different
(B) Real and equal

(C) Imaginary

(D) Cannot be predicted

Fora CTD of Rs. 10 per month a bank
gives Rs. 761 after 60 months. What
sum is given by this bank for a CTD
of Rs. 40 after 5 years 7

(A) 3,600 Rs.
(B) 8,500 Rs.
(C) 3,040 Rs.
(D) 3,044 Rs.

What is the GeometricMean between
4 and 84 7

(A) 1B (B) 32
(C) 34 (D) 18

Find the quanaﬂynﬂeresaed
of Rs. 12,000 at 6% p.a.

(A) Rs. 1,800
(B) Rs. 180
(C) Rs. 360
(D) Rs. 240

In a class 35 students wear shirt and
cap, while 25 wear coat and cap. If
10 students wear shirts, coats and
caps, find the number of students in
the class.

(A) 70
(C) 50

(B) 45
(D) 60

a7.

60.
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56. Find the sum of all natural even

numbers from 2 to 42.

(A) 462 (B) 426
(C) 642 (D) 624
1ipas P242=

P ' p?

A) 27 '

(B) 25

(C) 80

(D) 23

Write 52 = 125 in the form of logarithm
(A) logs5=125

(B) logg125=3

(C) wlogy 125,25

(D). Joge3 = 125

9__Name the property of multiplication
x 3Q) x P =29 % (3Q x P)
Commutative property
(B) Associative property
(C) Closure property
(D) None of these

Marked price of a book is 20% above
its cost price. If it is sold at a discount
of 10%, what is the profit pgr{:antaga ?

(A) 10%
(B) 20%
(C) 12%
8%

(D)




61.

52.

53.

54.

85.

x2 - 6x +9 = 078 Rard vl e g
(A) FTeafas ofR =

(B) aralEss SR auH

(C) FrHH

(D) ey = R s o

wF d@% s HidEt g § mifvs
%103 AFTeH = SR 60 REHT A %, 761
TATE | TR AE F. 40 % HIAE W 5 TuT A
Tt Trft 3m 7

(A) %. 3,600
(B) % 3,500
(C) %. 3,040
(D) %. 3,044

4 31 64 % = B UL AT TR 2
(A) 186 (B) 32
(C) 34 (D) 18

af 3 & FaiRes s 2
(A)
(B)
(C)
(D)

%, 12,ﬁnﬁ-ﬁaﬁﬁﬁmmﬁu{a?§

%. 1,800
%. 180
% 360
§. 240

uh e 35 feremffiw s dd e,
Sereh! 25 o] e afw 2t vead £
T2 10 Freneft wfis, 1z i 2rdt weTt
2, @ 39 wen ¥ Framifa figen 2
(A) 70 (B) 45

(C) 80 (D) 60

15-

56.

57.

58.

59.

(28 x 3Q) x P =29 x (3Q x P)
Tore

60.
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2 | 42 T & E@YTiHes 99 gl &
I et s

(A) 462 (B) 426

(C) 642 (D) 624

= %+P=5 3 @ P2+E‘.2.=::
(A) 27
(B) 25
(C) 30
(D) 23

53 = 125 = ATy a5 | fafiae
(A) logs5 =125
(B) logg125=3
(C) logy125=5
(D) logs2 =125

U <1 T[0T HaTY,

O fohaTe %1 3 fehd Hod 3G ST qod
" 20% wfos ¢ | I 3@ R =1 10%
& T ST ST &, e e § R
g 2

(A) 10%
(B) 20%
(©) 12%
(D) 8%

-
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iv) Test of Language : Hindi
syret it ; fE=d

61 8 64 STTH Y 9T 1 e fafan |

61, (A) HlhERelHram far
(B) Hf meehAm T ®
(C) Tt aEe A e e

(D) B wRen F Am AR

62, (A) wEl Fe wrfl
(B) e e T
!I‘F‘
st@'mﬁm
e GEeDRy -r
o) mmﬁ
63. (A) T3 FI HI R G A1
(B) T wTiE R

(C) T W w1 o fear

(D) TH AL R

A*

g4, (A) THI SR @M
(B) T AW @I
(C) THT 3 @

(D) T 3 @

652 6o Fseli v i A ikt |

.-135 &&L‘Iﬁ

\

el | @r%;

adda

n}ﬁa

66. (A) =M

(B) wTH




71. 3
(A) IS
(8) T

fs

70 % 74 gl w5z g forf | ©) FrEm
d 70. NS | 74. 3R
| (a) B (A) FaRE
(8) P '
© P R | ) wRw
o why | (@ e

LS




(A) Al
(B) st
(©) ke

(A) TEE Ayl

(©) TR ©) s

b © m ' @ =
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| v) Test of Language : English
’ ST G0t ; ATt

81. Select the alternative which best Directions (Qs. 84 and 85) . Select the
expresses the sentence in alternative which best expresses the given

Indirect speech. He said, “| have sentence in passive voice.
passed the examination”.

(A) He said that he had passed the

84. Who gave you ice-cream ?

examination (A) Who has given you ice-cream ?
B) By whom were you given
(B) He announced that he has () iy At N
freas) ce-cream 7
passed the examination ]
(C) By whom was you given
(C) He said that he had to pass the ice-cream 7
examination (D) Who had given you
(D) He said that he has passed the ice-cream ? ,
examination <

85. | will write a letter.

Directions (Qs. 82 and 83) : Choose the (A)  Aletter isrwriting Fry e l
(B) A letter will be written by me p

alternative to the underlined part of the given :
sentence which may improve the sentence. (C)  Aletter has written to me L
: (D) A letterhas been written by me
g ;r;zz;-zanmt N _ . 5 Direcns (Qs. 86 and 87) : Choose the
iternative which can be substituted for the
. gl R |

(A) Provided a
6= e

(B) Unless %.ﬁ% mga’g

86. Stuay of

birds.
S (A) Ornithology
(D) No improvement (B) Topology
(C) Geology
83. Allhis efforts to find his lost child were (D) Theology
in vane.
(A) Vein 87. The line where the land and sky
seems to meet. o
(B) . Ware (A) Atmosphere
(C) Vain (B) Milky way .I
: (C) Horizon |
(D) No improvement (D) Distand land




f

Directions (Qs. 88 to 90) : Find out which
part of a sentence (A), (B) or (C) has an efror.
If thera is no error, your answer is (D).

88. These all (A)Ymangoes (B)/are ripe. (C)/
No error (D)

89. The library members were asked (A)/
to return back the books (B)/ to the
library. (C)/ No error (D)

00. Each of these girls (A)/play (B)/
games. (C)/No error (D)

Directions (91 and 92) : Choose the correct
alternative and fill in the blanks.

A (91) friend is not (92) to give an honest
suggestion.

91, (A) True
(B'] Truth
(C) Truthiul
(D) Truly

g2. (A) Fear
(B) Afraid
(C) Fright
(D) Fret

93. Find the word which is most opposite
in meaning to the given word
‘REJECT

(A} Return
(B) Repent
(C) Accept
(D) Repeat

94, Find the word which best expresses
the meaning of the given word
“EMPHASISE"

(A) Amend

(B) Stress

(C) Steal

(D) Hate '

g5. The plural of tooth is
(A) Tooths
(B) Toothes
(C) Tooth
(D) Teeth

96. Pasttense of ‘teach’ is

(A} Teached
B) Teacher

(
a C) Taught
an} Taut

Directions (Qs.97 to 100) : Read the passage
carefully and choose the best answer
accordingly.

Many of the serious health concerns in
modern America can be linked to poor diet.
People who regularly consume foods high
in sodium, sugar and saturated fats not only
increase their chances of obesity, but also
increase their risks of developing heart

-20-

‘ :

T—
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diseases, diabetes and several types of
cancer. Although some people who regularly
consume unhealthy foods do so knowingly,
there is also a significant portion of the
population that remains under-educated
about proper nutrition. What is more,
individuals who live in food deserts-areas in
low income neighbourhoods that lack easy
access to healthy, affordable food — may not
even have the opportunity to obtain nutritious
food. Food deserts are located in high-
poverty areas, such as sparsely-populated
rural areas or densely populated, low-
income urban centres. Food deserts most
often develop when major super market
chains either relocate out of these areas or
simply refrain from building stores there.
Major food retailing chains tend to fimit thefr
store locations to wealthier urban or sub
urban neighbourhoads. This means that
those who live in higﬁfphyrerty areas often
also live miles away from fresh me i
products and produce avai
supermarkets. Furthermore, fast foo
restaurants are disproportionately
concentrated in low-income areas.

g7. Serious health concems in modern
America are related to

(A) smoking
(B) fastlife
(C) poor diet

(D) loneliness

98.

99.

100.

. o= ¢ . i e

JDD-41/TGT-MATHS/X-14

Food deserts are

(A) areas having large supermarket
chains

(B) low-income areas without access
to healthy foods

(C) areas having large scale

plantations 5

(D) areas having large number of
restaurants

Food deserts are formed when

(A) major super market chains are
unavailable in some areas

(B) peopledanotlike eating fresh food

(C) people relocate to new areas
most remain under-educated
about nutritious food

People belonging to low-income
group mostly resort to

(A) fresh milk and vegetables
(B) gambling
(C) rash driving

(D) fastfood 1’

e
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SECTION-B
Post Specific Subject-Related Questions

101. Decimal expansion of an irrational 105. The equation x* —5|x| + 6 =0 has

number is
(A) Two real roots

(A) Non-terminating, recurring
(B) Terminating
(C) Non-terminating, non-recurring

(B) Four real roots

(C) One real root

(D) None of these (D) No real root
102. If x=+/3++2,thenvalue of x2is 106. The equation |x + 4| =—4 has
(A) fa-42 (A) Unique solution
(B) 5+2/6 (B) Two solutions <
© Ja+i2 (C) Many solutions
(D) 5-246

(D) No solution

103. The value of the expression | =
s . ' 107. Sum of two irrational number is

0.8% 2% g aqual to

0.004 A) Rational
L a d a \rrational
(B) 0.1
(C) 100 (C) Real
(D) 04 (D) None of these

) T ) :
104. If2"—-2"1=4 thenthevalueofn"is | 408 An odd degree polynomial equation

equal to has

(A) 8 (A) Atleast one real root~
(B) 9 (B) No real root

(C) 27 (C) Only one real root
(D) None of these (D) None of these

Bl i o B



101.

102.

qrr-=

(A)  refifi, s
(B) i

(D) T AHE A

% x= B+ B R, Ax2 FEAR

(A) J3-+2 ‘
(B) 5+2V6

(C) bl
©) §-206

103. 4

104.

(B8) 0.1

(€) 100
(D) 04

afg 20— 2" = 43, F n" S HT T
LR

(B8) 9
(C) oF

(0) FEAFETE

1085.

106.

108.

2 —5jx| + 6 = OTHIRI H &
(A) = aTEfasE o

(B) =R AT e

(C) e arifah Ht

(D) St e Ta

X+ 4| = — 4 THEROT 6 T
(A) T AT EEA

(B) EmH

(C) FEUH

J LR | D 1
5 (N gjhﬁ P jm“&!f%

107,
d

B |

(C) arefa
(D) T & HIE T

fore wTe g EHIE R
(A) ¥ AT A
(B) I ATEIE Hel TE

(C) 3! U eI Tt
(D) & B

1
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109. The sum of two numbers is 50. The | 113. A bag contains & red and 4 green
fraction obtained by dividing the larger balls. A ball is drawn at random from
the bag. Find the probability that it is

number by the smaller number is % . :
either a red ball or a green ball.

The numbers are

(A) 25,25 (A) 1
(B) 10,40 (B) 3
(C) 16,35
(D) 20,30 © ~ '
2
110. Mother's age is three times the age Dy 5
of her son. After 5 years their ages will
Sl tnf fhiygz‘:: ‘uﬂ:*?hat ie the present 114. Seven persons are to be seatedina .
ag= o TrS I row. The probability that two particular
(A) 45 years persons sit next to each other is
1, B) 42 years 1
| Wsg
.. . ﬂl
B &
| 111. _@
| . ya
| B) (x+y)? 1

(C) 2x%+2y°
(D) None of these

115. For any event E, if P(E) = 0.899, find

112, The sum of the finite series the value of P(not E).
54 8+11+..+47+50is iy o
(A) 442 £
| (B) 0.01
| (B) 440
(C) 244 (C) 0.001
(D) 435 (D) None of these

| | A* 24




-.ﬂ"?.l

109,

110.

111,

112.

B Tl w1 SE 50 § | € HeAn wi
@‘fﬂ?@f&ﬂﬂ%ﬁ#f’/ 1 T foreran

2 | 3uEE

(A) 25,25
(8) 10,40
(C) 15,35
(D) 20,30

ﬁaﬁm{mﬁirﬁm%ﬁm%;
5 Wiel % W18 391 I 61 T2 66 T
2 | w1 o adu I e #

(A) 4571
(B) 42T
(C) 559

548411 4 .4 47 + 50 98 IRFEA
HERHF A &

") 442

() 244

(D) 435

e

118.

114.

115,

JDD-41/TGT-MATHS/X-14

i emmsiaR mFE e )

S i G I v e Preen ST | 5E

itz =5 AT A1 e B S BT B
(A) 1
(B) 3

1
© 3 *
(Dy &

T SRl T A AeAT R | 2 T
e T R o T e ol HeTe &

fapeft £ wiom 3 fo afR P(E) = 0.999
2,71 P(not E)H1 &4 T Itore

(A) 0.1

(B) 0.01

(C) 0.001

(D) T EHEE
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(%

later found that two observations 19
and 31 were recorded incormectly as

116. Mean of 100 ocbservations is 45. It was 119,

function described by g(x) = ax + b,
then what values should be assigned

91 and 13, then the correct mean is toaandb ?
(A) 44.48 W 1,1
B) 1,-2
(B) 44 © 2 -1
(C) 45 @) -2 -1

(D) None of these

| 120. The remainder when the sum of

\ Ol + 11+ 2! +...+ 99! + 100 !, divided by
117. The decimal number 12is

1.23657657657657... is equal to the

rational number (A) 6 ' “-‘1
B) 5
A 129 ) 11
4 (D) 10
(8) 1%990 =
5 123657/ ' 121.  The number of positive divisors of
& 0 252 is
: i &
D). 123584/ ) ;
» v add3: !
(C) 10
118. Letx and y be real numbers and (D) 18

x={{x,y}|y=%,“°}.

¥={(x y)|y=-x}betwosetsthen

122. If a and b are positive integers such
that a2 — b2 is a prime number, then

a® - b? is equal to
(B) XAY=X Ay a6 <
| B) XnY=Y ®) a+b
| C) XnY=6 () ab
i | D) XuY=X D) 1




1 11&.

117.

118,

mmﬁ'ﬁﬁmmaﬁ%lwﬁm
wal el o 31 s w1 TadE 19
3R 31 F 591 91 37 13 T R
T 1 | FE AT 36 '

(A) 44.46

(B) 44

(C) 45

(D) @

29T HEAT 1.23657657657657...
e T IR HE o e R

(A 2%

?ﬁ?ﬁ%&;ﬁi xaﬂtymiﬂa:mﬁﬁ
3w x:{{x, y)[ff:;,x--w},

Y={(xy)|y=-x}maugemd, @
B Xny=X
B XnY=Y
(C) XnY=6

{D)".l.. XuY=X

119.

120,

5 f . r o e r E
=¥ O E ; i i ' ] S
L o W 000 L - ¥ T T o a i = e o
: 2 T ey gl .II.I . = g Ch el -'._i'--' - L :
L3 K 3 N i B8 B il & b,
. A . S (' L A % ¥ » 8 T =
i 1 - - JF ENsE ] » = e FEE S .y
PR L AR N Y G TS 4
: SUEE R S P R e Ll e e TR 7 R e ] T
\ ) &
. - —_
A |
. I | !
4
L L
i 1 B
- I

122.

I g(x) = ax+ b I
a 3R b =1 1 g Fa
(B) 1,-2 :
iC) 2.=1

{D} _21 .

SO+ 1142 4.+ 99! + 100 | FSe
&1 128 9 s 8, a9 Sy a=a e

6 3

(A)

P Y

_,.‘l‘-l-"l'

P wa .

(D) 18

af2 a st b T un il 2, s A i
a? — b2 3T TEAT 8, 1 a2 — b2
e T AR Y

(A) a-b j 7
(B) a+b

(€) ab
@ 1




R R ——————————————a—_— ——

1 a ﬁg JDD-41/TGT-MATHS/X-1
128. The value of x satisfying 150 x = 35 126. A person at the top of a hill observes
[ (mod 31) is that the angles of depression of two
| consecutive kilometer stones, on a
'| (A) 14 road leading to the foot of the hill were
: 30° and 60°. The height of il
| B) 22 and 60 e height of the hill is
| (A) 2
‘ (C) 24
=
() 12 ® 7
© =
. X 3
124, tanﬁ':—f—and 8 lies in the second v
Qquadrant, then sin & is equal to (D) _‘-”_5
2 3
2
(A
127. If A = {a, b, c}, B = {b, ¢, d} and
(B) 2 . C={a, d,c},then(A-B)x (B~C)is
. @) (e, (a,9), 0,0
¥ =\ (B) {(c,a).(d,a))

— (©) {(ab) (.
©® = a (D) 4(a, ¢),(a. )}

125.  One root of the equation tan x = x is 128. Iff:R—>Ris defined by f(x) =[x}, then
o
A) x=0 | f_1 Pl
= @ o=
_F B) f1x)=—x
(B) %= 5 1 ,
ey Flon=—
(C) x==x € ' =
(D) None of these (D) The function f~(x) does not exist
Ax P




123. 150 x = 35 (mod 31) 7 HellwoiFeh F1
: %'ﬁﬁxﬁit@ﬂ?ﬂﬂ

124.

125.

A=*

A) 14

®) 22
©) 24

©) 12

tang =~ 3t 7% e wuiv A,
A sing TEF TR

(A)

tan x = x HHIEHT 1 G 7e 8
(A) x=0

® *=3

(D) A HE

%ﬁ:rﬂaqmﬁ%w. -

60° % | T ETR A FAEE

® 2 N
3 __

® 75

. 4

© 7 -

o &

127. 9f¢ A={a, b, c}, B = {b, c, d} 3N
C={a,dc}? M (A-B)x (B NC)
H{ﬁt%

128. I f: R>R®If(x) = x|, & Fhariim
s g, @

W e
(A) f {x}wlxl

(B) f~'(x)==x
© 0=
(D) (%) Fom AT o i @
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128. The real root of the equation 133. The roots of the equation ax? + bx +c=0
x*—6x+9=0Is are o, B, then equation whose roots
e 11
(B) -9 are E-E is
(C) 6
{D] —4 (h) axz-bx+ﬂ=n'

(B) bx2—ax+c=0

130. The digit in the unit's place of 58%4 ig
4 : (C) cy’?+by+a=0

(A) 5
(B) 0 (D] by2+c:y+a=ﬂ
(€ 1
(D) 38 134. The number /2 ¢ is :
(A) A rational number i
o 4
131. The value of sin [TJ is same as (8) A transcendental number
the value of (C) Anirrational number
. 5 — | (D) An imaginary number
(A< S0 - _ | |
\

| 135. Ifthere are 12 persons in a party and
if each of them shake hands with

{B} sin. T) ;

: p8t each other, then number of hand
D 3 -f,“] a hakes in party are

(©) P A) 66

Ot (B) 48
(D) sin (TJ

(G 72

(D) 132
132. Ifroots of the equation 3x% + 4x +7 =0

1.1 '
are o, B, then value of —+7 is | 136. Thevalue of ("Cy +7Cy) + ('C, +7C,)

equal to P mlfegsTe)e .
e j (A) 28-1
@& = ® = B) 28-2
e ~8 = (C) 28+1




129. x3-6x+9= O FHTRT 1 A
qe @
(A) -6
B) -9
(C) &
(D) -3

(A) 5
(B) 0
(C) 1
D) 3

130.

131.

TS R
(A)

(©)

| 188, = ax®+bx +c= a 1

| 134.

2dds

136.

. %, for sl e

CELE

(A) ax®—bx+c=0
(B) bx?-ax+c=0
(C) cy’?+by+a=0
(D) by?+cy+a=0

rj'-

J2 e TR uE R
(A) afeta s

(B) sftsita g
(C) ity we

aﬁﬁ[ AT ﬂ ) ﬁﬁm% A e

“Wﬁf
1§

(C) 72
(D) 132

("Co+7Cy) +(7C; +7Cy) +..4 ('C3+7C;)
'ﬂﬁ@%

(A) 28-1

(B) 28-2

) 28+1

(D) 28

-




137.

138.

138,

140,

divide the line sagméﬁf“j&iﬁing the

points {& B}Wd (=7, 4} ihternally in
the ratio 2: 3 is

For any two sets A and B, the value
of the set A ~(AUB)® Is

(A) AC

(8) BC

€ ¢

(D) B

If the area of a triangle having vertices
(2, 7), (5, 1) and (x, 3) is 18 sq. units,
then the value of x is

(A) 10
(B) 2

(C). ~2
(D) - 10

The coordinates of the poirt'which

(B) (2,7)
(C) 7.2
(B) 2,-7)

Two angles of an isosceles triangle
are always

(A)
(B)
(C)
(D)

Equal

Equal to 45°
Equal to 80°
None of these

141.

142,

143.

e

144,

JDD-41/TGT-MATHS/X-14

The solution set of [2x + 3| > 5 is
(A) (~o,—4)

B) (1, =)

©C) (Fo,—4)u(1,=)

(D) None of these

£+_1. (x
then f{f{fﬁz}}} is equal to

(A) 1

(B) 2

©) 3 |
(D) 4 ~

If f(x) = 1) is areal function,

Which of the following limit does not
exist 7

A
(A) mlxi

lim sinx
xr;n—

B)

fim X
I—&I}

(D) MNone these

3 X
The value of lt_[‘|+—) is
xn-m_ X
(A) e)g ~
(B) &°
- 1
o By
(0) 1




138,

139. forg

140.

A 3P B Rl 2t wrgeeret 3 for, e
An(AUBE FTHEa R

(A) AC

®) BC

© ¢

D) B

7t (2,7), (5, 1) (x, ) Rrifeg It
O B 1 deee 18 5q. WWE R, A
xﬁ':‘riﬁtft

@) 10

®) 2

© -2

© -10

® @7
© (7.2
D) (2-7)

TrfEeTg B % @ AR ER #
(A) wEF

(B) 45°% SR

(C) 60°%F TR

(D) wHA=ETE

141,

142,

143.

©) (cay=4) (1,05 &0

[2x + 3| > 5T HEI
(A) (~w,—4)
B) (1, =)

(D) T =E

wﬁf(x;_"‘” (x = 1) T8 TRAH T
2 fﬁﬁn:ﬂenmasmt

(A) 1

B) 2

() 3

(D) 4

Fre o | el i arfere A R 7

w ﬁ #iﬂﬁ“m oy, g

LT N 4 B .,,JR.&.;.,‘JUJHIE

(B) lim sinx

I—bﬂ_‘—

: )

(D) m‘#ahiaﬁf




146.

147,

145,

148.

Value of the limit lim 2 o is
Xx—=0 X
(A) 1
(B) 2
1
(C) 2

(D) None of these

'n2$° :
52-:- ’

Value of

(A) 1
(B) 0
1

(C) P

(D) None of these

A two—@gt number is §uch fhai the
-Mmﬂh@si'z When 36is

toﬂwnunimﬁw '

(B) 36
(C) 26
(D) 48

If the roots of the quadratic equation
(4+m) x?+(m+1)x+1=0are equal,
then the value of mis

(A) 5
(B) 4
(C) 2
(D) None of these

149.

150,

152.

151

JDD-41/TGT-MATHS/X-1¢

Ifsin (A +B) =cos (A-B) =—i§. acute
angles of A and B are

(A) 45°and 15°

(B) 30°and 60"

(C) 15°and60°

(D) None of these

Value of fim 1+2+3_+.._.+r_1'

lim > neNis

equal to L
(A) ©
B) 1

1
(C) 2

1
(B) b

The number of points at which the

function '-.;f(x}g — is not
LA

continuous is

(A 1

(B) 2

(C) 3

(D) None of these

K =X

If y= E ":: then % is equal to
(A) sech?x

(B) cosh2x

(C) —sech2x

(D) - cosech®k




145,

146.

147. o ditameh

148.

IR @4 +m B+ (M+1)x+1=0%
Tt w6 e o A 8, A m
HA R

(A) 5

(B) 4

(C) 2

(D) T A

149. T sin (A +B)=cos (A-B) =

150.

152.

JDD-41/TGT-MATHS/X-14

2%,
2,

A A 3fr B = & = &
(A) 45° 3t 15°
(B) 30° 3 60°
(C) 15° 3T 60°
(0) wHEwET
;-!I_T 1+2+:2+...+n’ e N oy e

% aUE R :
(A) 0
(B) 1

)

2
L
4

. S .
el :" i:** & % T T R
(A) sech? x
(B) cosh?x
< - sachex
(D) - cosech?x




154.

155.

156.

(C) abla+b)
e %

Ifx"-_-y‘-"than%is
— X

A
=¥

®
1+logx

© 1+logy

(D) 1+log (5}
y

If f(x) = be®* + ae®, then {'(0) is

equal to
A (&)

(B) 2ab

o +p
'3

g (B K
i) =< x—1 is continuous
K Bt x=A1
atx =1, then the value of K is

(A) O
(B) -1
(C) 1
(D) e

If f(x) is an even function, then f(x) is
(A) An even function

(B) An odd function

(C) May be even or odd

(D) Nothing can be said

|

159. If[2x 31[

JDD-41/TGT-MATHS/X-14

-1
157. If 2A + 3B = [2 4] and

3 25
5 0 3 _
A+EE=[1 6 2].tl'|enﬂrsamaltu
[8. 1. 2 i
A 11 10 1
[8id - 12
® |4 90 =1
s = <
g8 -1 2
© |1 10 -1

(D) None of these

= D
158, ﬁﬁl:[a K]WA2—4A+1DI=A,

then K is equal to
{A}' -Ej W*: LS ""-.
(C) -4
(D) O
-3 0]|8 |

23
(A) o

® 5

o 5

L)




154.

155.

156.

(C)

(D) 1.+_f-l@g_{f)

aft 1(x) 78 T we B, A £(x) TE
(A) TH FeH

(B) foum were

(C) w1 A AT}

(D) wfRfEE

"'.

JDD-41/TGT-MATHS

= "]@z
2 2 8 Y

157. zrf?:zmsa{z

A+EB={

(A)

159. afe[2x 3] [_; ﬂm 0% dlx2

w 2

b

o s

1
mLA ro
@

(C)

ol

(D)




160.

161,

162,

163.

164.

A*

The value of 1°C, +19C,, + 19C, +.
+10Cgis

(A) 210
{C} 51D _ o

{B} 211
(D) 210 1

If (x — 1) is a factor of x5 — 4x3 + 2x2 —
3x+K=0,thenKis

(A) 4

(B)

(C) 2

(D) 3

I %bﬂ:} and %b ] where
abcENthen

(A) a2 = b2 (mod c3).

-;{B} ¢% = a2 (mod b?)
(C) a?+c2=b2

(D) b2 = ¢ (mod aﬁj

Ifa,bandc € Nw
fOilﬁwEngianmtrue

9 and =80
(B) %+c:>% and 8/
(C) % and bc‘:’%

% a0 % :}%Bb+2c

The equation x2 — y2 = 0 represents
(A) A circle

(B) An ellipse

(C) Pair of straight lines

(D) A hyperboia

165.

| 168.

167.

168.

JDD-41/TGT-MATHS/X-1

dx ;
I sinZ xcos2 x 'S equalto
(A) tanx+cotx+c

(B) (tanx +cotx)+¢

{C) (tanx—cotx)2+ ¢

(D) tanx-cotx+c

= N is equal to
X+1 :

%2 x?
A) X+—+— — - 3
(A) 2 4 log |1 —x|+¢ 2
%= AP
! s e % _
(B) + 5 B log|1—x|+¢
5 -

=
{?} e~ log|1+x| +¢
(D) None of these

The area ﬂ{ an equilateral triangle
whose side is 5.cm is equal to

(A} »J:_i}: 6.25 cm?
(B) .J3x525¢cm?

(C) J3x 25cm?
(D) None of these

The hollow sphere, in which the circus
motor cyclist performs his stunts, has a
diameter of 7 m. Then the area available
to the motorcyclist for riding is

(A) 59 n m?

(B) 50 m m?

(C) 49 = m?

(D)} None of these
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160.

161.

162.

163.

164.

10C, +19C, + 10C, + ... + 19C, e &
{ﬂ} 210 (B} 211
(C) 2%0-2 (D) 2101

IfE x5 — 43 + 2¢2 — 3x + K =0 1
(x— 1) PFEvE R, @1 K&

(A) 4

(B) -4

(C) 2

(D) 3

"ﬁ%aw} M Yo o) 7
b,ce N&,
(A] 2 = b?imdc‘?

(A) %"*‘/ VH:
®) %, c=%3M Y,
© 8 Y=

(D) %Gﬁ‘%:}%ﬁbmc

x* —y? =0 ¥g THEW ITEFT
giafafes war?

(A) =d

(B) g

(C) it Tt i
(D) FfdwEea

JDD-41/TGT-MATHS/X-14

dx
165. fm T T 2

(A) tanx+cotx+c
(B) (tanx +cotx)? + ¢
(C) (tanx —cotx)®+¢
(D) tanx-—cotx+c¢

3
166. [ N e 3o o 2
X +1

KE KG
(A) x+?+~§ —log|1—x|+¢c

2 a
(B) X+ —log|1-x|+c

2 3

X X |
WOy =SrEms=togTHy| + o

(@) wAIFEA
&ﬂ Wm&wﬁaﬁmmm

6.25cm?
(B) J3x 5.25cm?

(C) J8x 25cm?
(D) =79 & =rd T

168. g o Hrzas e o fomd s e
2, T8 @ e w1 = 7 Wi 2
HRERE e % Har F e
o
(A) 59 =m?

(B) 50 nm?
(C) 49 mm?
(D) o9 T =g TE




169. Which of the following set is a basis

of IR®?
o bl & 8 b
(A) oLl212
_D o) \8)

———
b2

o N =

N
<~ R
o O 0
—r

e
F i
M =
th © &~

LetT:IR® >R’ b
transformation defi
T, Y)=+Yy, x=,
of Tis
(A) 3
B) 2
€ 0
(D) None of these

170.

171.

If A and B are symmetric matrices of
the same order, then (AB! — BAY) is
(A) Symmetric

(B) Null matrix

(C) Skew symmetric

(D) None of these

a

172.

173.

174.

175.

JDD-41/TGT-MATHS/X-1:

1 2 4
The matrix |3 0 6| hasone eigen

s s :
value equal to 3. The sumof the uther%
two eigen values is '-
(A) p—2

(B) p—1

(C) p

(D) None of these

1§ () = sin? (x) + 3 cosx — 5, then f(X)ds
(A) Aneven function

(B) An odd function

(C) Monotonic

(D) Mone of these

The numbér:é’ir glements in the se
S = {{a, b) J\gﬁ +3b2 =352, b are
Tﬁﬁgﬁrs’;}liﬁ“

{A) 8

(B) 4

< 2

(D) 12

In a frequency distribution, the mea
and median are 21 and 2
respectively, then its moder |
approximately

(A) 205
(B) 25.5
(C) 24
(D) 22




171.

i

af A 3 B 72 THF F 5w AR
%, 91 (ABt-BAYE

(&) wEfEE

(B) e Aige

(C) famm gwitm

(D) o & T A

172

173.

175.

JDD-41/TGT-MATHS/X-14

1 2 4
& 0 6| &fm % T ¥ (eigen)
- [
ey 3 % s & | S 3 e
A) p-2
(B8) p-1
<) p

) g A A

afe f(x) = sin? (x) + 3 cosx— 52, ATf(X)
(A) W EEH

(B) fomm weH

(C) wEEu

(D) Wh‘r&aﬁ

.b)|2a% +3p°=35;a,b

agmﬁwﬁ#ﬂ@n%

(B) 4
C) 2
(D) 12

s SyERA guz i Jre i A
FraT: 21300 223 | W@ Hagem @
(A) 205

(B) 255
(C) 24
(D) 22




177.

178.

Y.

180.

Every homogeneous equation
f(x, y, 2) = 0 represents

{A) Sphere with centre at origin

(B) Cone with vertex at origin

(C) Cylinder

(D) MNone of these

If altitudes of a triangle are in A.P. then
sides of the triangle are in

(A) A.P.
(B) G.P.
(C) H.P.
(D) None of these

Let R = {(x,y) | x + 2y = 8} be a relation
on N, then domain of Ris

{A} {1,2, 8}

(B) {1,2,3,4,5,6)

(C) {1,8,8}

(D) _{2,4, 6}

If three positive mgqg a

G.P., then loga, logb, loge are in
(A) AP

(B) G.P.

(C) BothA.P.and G.P.

(D) None of these

If log ;z 81=x , then the value of x is

(A) 4
(B) 8
(C) 16
(D) 32

181,

182.

185.

184.

JDD-41/TGT-MATHS/X-

C, = n!
(n-ntrl
"C, +"C, _, is equal to
(M n+1cr
(B) "Cr. 4
©) ey -
(D) None of these

then the sum

If |x + 3] = 10, then

(A) xe (-13,7] 23
(B) xe (-13,7)

(C) xe&(-=,-13]u [7, =]

(D) None of these

How many

3 3
G.P. 3, 204

terms of the

.., are needed to give

e —3n
the sum 512

A) 8
B) 10
(C) 9
(D) None of these

If ax + by = ¢ is tangent to the circle
X2+ y2= 16 then

(A) 16(a+b?)=c?
(B) 16(a%2-b?)=c?
(C) 16(a+b?)=—c?
(D) 16(a?-b?)=—¢?




177.

. TR T aHiE (X, y, Z) = 05

(A) HEIRRg T AT T
(B) iy w Rrifergaen oig
(C) =

(D) T g T

7% v o o yidena AP W R, 4l
Trefroreft e gaE 2l

(A_} AP,

(B) G.P.

) R

(D) FHAFE

178. R=

179.

180.

®) ﬁ?ﬁ '"
©) {1.3.5

(©) ms}

afe a,b c%’#ﬁmwwﬁ dt. 4 &,
@t loga, logb, loge ¥6H &

(A) AP.

(B) GP.

(C) AP.3MRGP.ZH

(D) TAHE HIEFE

R log ;s B1=x &, A xF AL

(A) 4
(B) 8
(C) 16
(D) 32

181.

182.

184.

JDD-41/TGT-MATHS/X-14

e DL,
(n r)l I
11 55 TR 2

{A} nq-‘J[::;r

(B) "Ci4 4

(C) ™IC, ., 4
(D) o & =

C, + “C,q

af [x +3| > 103, 7

(A) x e {-13,7]

(B) x € (-13,7)

(C) x& (-»,-13]u [7, =]
(D) FHESE T

<

(A) 16(a%+b?)=c?
(B)

(©)
(D)

16 (a2 —b?) =2
15.{&2+b?'} ==
16 (a2 —b?) =—c2

R x2+y2=16gAHax+by=c TE
Ty B, 4l . ‘




185.

186.

187,

188.

1889.

The function y = f(x) has a relative
minima where

(A) f(x)=0andf(x)<0

(B) f(x)=0andf (x)}>0

(C) fix)=0and f'(x)>0

(D) f(x)=0andf(x)<0

if volume of a sphere is 367 then its
surface area will be

(A) 18™

(B) 6~

(C) 12w

(D) 367

Let average of three numbers be 18.
If two of the numbers-are 8 and 10,

The distance of the point (2, 3, 4) from
the plane 3x -6y +2z+ 11 =0is
(A) 9

By 7

(C) 10

(D) None of these

How many real solutions are there for
the equation x* -2=07

(A) 1
(C) 3

(B) 2
(D) 4

what is the remaining number ?

(A) -30 2l

® 18

(C) LN

©) 30 a a

191,

JDD-41/TGT-MATHS/X-

190, The value of x for which the points

(x,-1), (2, 1) and (4, 5) are collinear is
(A) =1

B) 2

(C) 1

(D) None of these

A five digit number is formed by using
the digits 1, 2, 3, 4, 5 in a random orde
without repetitions. Then the
probability that the number is divisible
by 4 is <

A %
B 1%
Y

) %

A coin is tossed 3 times. Th

probability of getting head and ta
alternatively is

® 5

B =

o=

(C)

(D)

oo ¢




185, v = f(x) P 1 T34 ZAaH B & et

186.

187.

188.

189. x4 -

(A) f(x)=03Rf (x) <0

B) t(x)=03M 1 (x)>0
©) ()=0¥R (>0
(D) £(x) =03k (x) <0

a2 OF I 1 ST 367 2, A @
(A) 187

(B) 67

(C) 12=

ltD) 361

mﬁff{aﬁ_mmmm 16 21

8x — By + 22 + 11 = 0 FHaw § forg
@3 a9Fgle

(A) 9
B) 7
© 1w
(D) FHESE-

= 0 TR ﬁwﬂ‘ Eitiees
TS ?
(A) 1
© 3

B 2
(D) 4

R Ty a

190.

191.

JDD-41/TGT-MATE

X T T R (x, ~1), (2, 1) 30
frgdE?

Ay -1

(B) 2

(C) 1

(D) 379 A el

1,2,3,4, 5FRFAAFA AT
TR | U o = dew 4 ¥ v R A
HYEEa

(A) ‘V

192, o s 1 f IR smE ST R | R

371 92 foereTa: wﬁ%ﬁmi

_,l
=)

P

(A)

|

(8)

(C)

@l M=

(D)



193.

194.

195.

196.

The local maximum values of the
function f (x) = 3x% + 4x° - 12x2 + 12 are

(A) 1
(B) 2
(C) -2
) 0

Number of subsets of a finite set with
n elements are

(A) 20
(B) n!
(C) n?
(D) n"

The average of the squares of the

numbers0,4,2, ... nis

ailh

(A)
(8) %ﬁ(@m JRE

Efﬁ +H(an+1)
MNone of these

(C)
(D)

A stone is dropped in quiet lake and
waves move in circles at the speed
of 5 cms~'. At the instant when the
radius of the circular wave is 8 cm,

how fast is the enclosed area

increasing ?

(A) 40 cm2s!
(B) 807 cm2s!
(C) 60 cm2s!
(D) None of these

(A) 271 |
(B) 266 s
B o e

» adda—

teach math
these, 12

teach both p
How many tea

(A) 12
(8) 8
(C) 16 .
(D) None of these

dms.bsabyansastmuf "'i.ﬁ?#

(D), mmm

Null matrix
{B}
(C)
(D)

Unitary matrix
Skew symmetric
Symmetric

200. Value of the limit
equal to

(A) 1

®) o

(C) not defined
(D) none of these

.
lim 2% sin— j
W =0 By 5

o |




183.

194,

195.

1986.

f(x)=3x* + a3 - 12x2 + 12 B &
Ty A e R

(A) 1
B) 2
€ -2
By 0

HERAT Uk i

baivisb e S
(A) 2"

(B) n!

(C) n?

(D) n"

0,1,2, ..., nEE Fam #1 ofma 2

(A) %n(nﬂj -_ ol
(8) %n{aﬁm -'74-.;5;_‘{',.

© FOknEn+y)
0) wEAR

S Y1 1T | U Tet 16T SiaT B
Tored gaem a1 5 oms ! A @ BerEE
Al & | FeEveRR i i e = 8 om
Bl & 99 a0 H =iea &9 B e |
EC e

(A) 40 n cm?s™
(B) 80 mcm2s!
(C) 60 n cm2s~!
(D) 37H & =F1E 7E

JDD-41/TGT-MATHS/X-14

197. U T 20 e & 50 g an shfess
9B 2 | 39 | 12 i ve 8 3 4
et af ritra 2T oem # | fres e
sdiff werm § ?

Ay 12
(B) 8
(C) 16
(D) FHE=EE

198. 1H 500% orfent 3 U8 fre 2 Ford m
w93, 530 7d 9w RS as 2

(A) 271
(B) 266

g M oY
200.  fim 2x sin— el qeu gk s @
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Iuflearl & o aesagof sEw ]

11. This booklet contains 48 pages. 11, 3o gfEae 4 48 R | :
12. Please check all the pages of the Booklet " . e Bty ot

carefully. In case of any defect, please ask 12 wgﬁﬁmmmﬂ @WWW |22

the Invigilator for replacement of the Booklet. S A B, T S 36 S5 & o e |

184 Directions : Each question or incomplete

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctlly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue/Black Ball-Point Pen
against the guestion concernad in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened

13, Fader « vt v ovuel Wi O FEE & 9TE
A, I ST G FA YA R | 9 7
i arrent faell e 1 AT & S S 5 EE S
%awmm'@ﬁmmmnﬂﬁ@
3 AT =W A, B, C 91D A=
FIel dE-9Te 07 B FE (@) A2 |
(zfeearfer wufigani & fore wmm feresn

by the scribe) erfae g1 e T wme)
14, Mark your answer by shading the appropriate 14, Weie Gy S g gﬁﬁqﬁﬂmﬁﬁﬁm
circle against each question. Tha circle should
be shaded completely without leaving any space. e | o 74 e 913 P |
The correct method of shading is given below, mﬂﬁaﬁmmaﬁaﬂmﬁﬁmm‘% i
E}ﬂ GC"E{} C®O0ICe0s ORD0 D@DE} Ce0oiCecO
The Candidate.must mark his/her response : : L
after careful consideration.
15. There is only one correet answer to each
question. You should blagken (@) the circle
of the appropriate cn!un‘ﬁgﬁh, A, B,CorD.
If you blacken (@) more ﬁ)ﬁﬂ one ci
agalﬁ%%@esﬁm% answer wi
markin thecircle i the Answer-Sheet and then me% ar mm-ﬁmm s
blacken the cicl of ravised responiss. s Pt e S e g
16. A machine will read the coded information ~ e b=
in the OMR Answer-Shaet. In case the IR I AR |
information is incomplete/differant from the 16. 3010838, In-vfeT # o 78 32 g0 H
infarmation given in the application form, the Tyt g | afe e Fgar e
candidature of such candidate will be treated I aﬂ?i t
as cancelled. 7 E W g AR, ﬁﬁﬁw i
17. Use the space for rough work given in the sreafian Faee wmeh s | S
Question Booklet only and not on the 17, = F14 % (010 Has ¥9 99 5 120 74 = F
Answer-Sheet, ' RN
WM F | I - I Y A #
18. You are NOT required to mark your answers _ : =i 3 l
in this Booklet. All answers must be | 18. 3% UftaeT % ai=st sl 3w aifem =ofi
indicated in the Answer-Sheet only, 0 | IR e - A A
Go through instructiqns given in Page No. 1 {Fac!ng__Pa_‘gg"}
Ax 48 -
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